Algebra and Trigonometry — Joysheet 12| Name: ‘S;W-f O;Tfr:im
MAT 150, Fall 2017 — D. Ivansié Covers: 7.1-7.8 Show all your work!

1. (10pts) Suppose that 3 < o < 27 and § < 8 < 7 are angles so that cosa = 3 and

sing = 1. Find the exact value of sin(a — ). 1 2y 5 L .,4‘]5“1:. FJE"E
Siu(n{-;”;’): ErHSCUI&”Canéth =i r';.- (5‘ X %5 35
2/
2o e B e b el
3-‘?“2 Slhnﬂ'j"‘? ,'(-]-l-"; {fﬂ";;ﬁ 5‘
x= 24
+ [oa
et :’f':--b.rrzq'
s,
; ) ):-'*—?J-(:
T <T s B IRED

Z?j.t-\.-_. = Vede i

2. (4pts) Use an identity to find the exact value of the expression (do not use the calculator):
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3. (8pts) Find the exact value of cos %ﬁ (do not use the calculator).
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4. (10pts) Use identities to simplify the following expressions.
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5. (8pts) Show the identity.
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6. (10pts) A 12-foot tall roof is 8 feet wide. Find the exact value for cosf (do not use the
calculator), where # is the angle the roof subtends.
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7. (10pts) Develop the formula for cos(3f) by starting as follows and using sum and
double-angle identities. The final expression should only have sin # and cos# in it.
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